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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
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Let [f] be the greatest integer less than or equal to 7. Let 4 be the set of all prime

/
factors of 2310 and f: 4 —» Z be the function f(x)= {]ﬂgg IS —{
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number of one-to-one functions from A4 to the range of /18

Options :
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Correct Marks : 4 Wrong Marks : 1

(z+1) 1

Let z be a complex number such that z + 2/ =1 and Im| = :j = 7 - Then the value
of |I{c{m} 18
Options:
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The sum of all the solutions of the equation (8)™ — 16-(8)* + 48 =0 is :

Options:

68019155999, logg(4)



68019156000, l025(6)
68019156001, 1 T logs(8)

68019156002, 17 logg(6)
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Options:

68019155999, logg(4)
68019156000, logg(6)
68019156001, 1 T 1ogs(8)

68019156002, 17 logg(6)
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[2 a 0

Let A=|1 3 1| If 4> =44 — 4 — 211, where I is the identity matrix of order

0 b

3x3, then 2a + 3b 1s equal to
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68019156003. —9
68019156004. —13
68019156005. —11

68019156006. —10
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The equations of two sides AB and AC of a triangle ABC are 4x + y= 14 and
3x — 2y = 5, respectively. The point | l—i] divides the third side BC internally in
the ratio 2:1. the equation of the side BC 1s

Options :

68019156007, X =3y +2=10
68019156008, X —3y—6 =10
68019156009, X ~ oy + 6 =10

68019156010, X — 6y —10 =0
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Options :

68019156007, X =3y +2=10
68019156008, X —3y—6 =10

68019156009, X ~ 6y +6 =0

68019156010, X — 6y —10 =10
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Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
If the set R = {{u,h] a+5h=42.a.be N} has m elements and

i

! s s .
Z (' =i ) =x+iV, where ; = /1. thenthe value of m +x + y is
n=1

Options :

68019156011. 12

68019156012. 8

L
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the function f(x)=(cosx)—x+1. x e IR. between the following two
statements

(S1) fix)= 0 for only one value of x i [0. x].

. . — m . n—c
(S2) fix) 1s decreasing in | 0, 7:?} and increasing in {’Eﬂ}

Options :

68019156015, Both (S1) and (S2) are correct.

68019156016. Only (S1) 1s correct.

68019156017, Only (52) 1s correct.

68019156018, Both (S1) and (S2) are incorrect.

Question Number : 7 Question Id : 68019114340 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68019156015, (S1) TUT (2) & TEl B

68019156016, Pad (S1) TeI B

68019156017, Pad (S2) Hel Bl

68019156018, (S1) TUT (S2) &I TTeTd |
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Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The number of critical points of the function fix)=(x—2)%3 (2x+ 1) is
Options :

68019156019. 0

68019156020. 1
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68019156021.

68019156022. 3

Question Number : 8 Question Id : 68019114341 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
B fix) = (x—2)2° (2x + 1) b Dild® [dg3fi &I =13

Options :



68019156019. 0

68019156020. 1
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68019156021.
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let f(x)= 4cos” ¥+ W3 eos x— 10- The number of points of local maxima of fin
interval (0, 2m) 1s

Options :

68019156023. 1

| ]

68019156024.
68019156025. 3

68019156026. 4

Question Number : 9 Question Id : 68019114342 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
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AT £ (x) = 4 oo+ 33 cos? x— 10 §1 SR (0. 2r) H £ & WG FeITH HH B
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Options :



68019156023. 1
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68019156025. 3

68019156026. 4
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Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let 7(x J=J. = E —dx, If [{0) = 3. then f|l %J 18 equal to

sin“x(l-cotx)

Options :

68019156027. 243
68019156028. 3v3
68019156029, 6+/3

68019156030, ¥3
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Minimum Instruction Time : 0
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Options :

68019156027. 243
68019156028. 3v3
68019156029, 63

63019156030. v3
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Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The value of k € I for which the mtegral /, ji[ |- x* .]”;h- , n € N, satisfies
147 I = 148 I, is

Options :

68019156031. 8§
68019156032. 10
68019156033. 14

68019156034. 7
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k€ 17 1 ag A, R R WHIer 7, = [ (1) e n €17, FHfioRwn
147 I,y = 148 I,; D1 GqY P18, ©
Options :

68019156031. &
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68019156033. 14
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Let flx) be a positive function such that the area bounded by y =f{x). y = 0 from

; 2 ‘o - :
x=0tox=a>01is e?+4a”+ a— 1. Then the differential equation. whose
general solution is ¥ = ¢y f{x) + ¢,. where ¢; and ¢, are arbitrary constants. is

Options:

(8¢* 1) 47 9
68019156035, '/ dx’ dx

.
N j‘- 5 2
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(8e* ~1)=5
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68019156037. dx

68019156038.

:Yes
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Let v = »(x) be the solution of the differential equation

S ] > ¥ - lr & N
(1+1%)e0% dx + cos?x (1 + €231%) dy = 0. 3(0) = 1. Then y| %1 is equal to

Options :
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Correct Marks : 4 Wrong Marks : 1

If the shortest distance between the lines

L:F=(2+A)i+(1-32)j+(3+42)k, AeR

I
L::P‘=2(1—|—y]?+3[l+;r)}+[5+y}f;, HelR
is —=. where ged(m. 1) = 1. then the value of m + 1 equal
15 _\JI';““ IEIE_ECCI:F'}?. H:l— . then the value o m M equals

Options:

68019156043. 377
68019156044. 384
68019156045. 390

68019156046. 387
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Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe s
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Options:

68019156043. 377
68019156044. 384

68019156045. 390



68019156046. 387
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Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

»
W -

» ¥ 3 el H-
Let the circles €, : (x—a) +(y - B) =" and C,: (x-8) +| ¥ —%
\ J

=r] touch

cach other externally at the point (6. 6). If the point (6, 6) divides the line segment
joining the centres of the circles C; and C, internally in the ratio 2:1, then

(o + ﬁ) +4 (r‘lj +ry ] equals
Options :

68019156047. 110
68019156048. 125
68019156049. 130

68019156050. 145
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Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:
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68019156049. 130
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
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¥ 2

'*; _% = | be the hyperbola. whose eccentricity 1s (3 and the length of

it b
the latus rectum 1s 4./3 . Suppose the point (g, 6). o> 0 lies on H. If f is the

Let 11
product of the focal distances of the point (a. 6). then o + B is equal to

Options:

68019156051. 169

68019156052. 170

68019156053. 171

68019156054. 172
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Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



WH:_; —-i}! HfamRaed 8. /sl Icbgdl 5 & aul Aifidd &l amly
43 B1HMI (0. 6). o > 0, H R A 81 TfE 65 (0. 6) BT I gRAi 1
UHSE B &, d o + B RE &

Options:

68019156051. 169

68019156052. 170

68019156053. 171
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Question Number : 17 Question Id : 68019114350 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let P(x, y. z) be a point in the first octant, whose projection in the xy-plane 1s the
point @. Let OP = v: the angle between OQ and the positive x-axis be 8: and the
angle between OP and the positive z-axis be ¢. where O is the origin. Then the
distance of P from the x-axis is

Options:

" . 2 4
68019156055, :’\/'-Sln hbcos” O

) e 2 . 2
68019156056. r’\/ [ —sin” Ocos” ¢

N 20
68019156057. 1 J | +cos™ Bsin™ ¢

- - 2 i« 2
68019156058, f\/[“'ﬁﬂ ¢ sin” B
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) e 2 . 2
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2 % D
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—> .'T. ."._ 3]
The set of all «, for which the vectors @ =afi +6j— 3k and
> A A AL .
b=ti—2j—20tk areinclined at an obtuse angle for all t € 5. is
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68019156059, [0- 1)

68019156060. (—2. O]
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e PN TN S RIUTRY @ =ari +67 - 3kqUT B =17 —2) - 2ark
HUPHIV TR P §UE, ol T o BT IH=T B -

Options:
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Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let the sum of two positive mtegers be 24. If the probability. that their product 1s

not less than > times their greatest possible product. 1s % where ged(m. n) = 1.

4
then n — m equals
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68019156063. 11
68019156064. &
68019156065. 9

68019156066. 10

Question Number : 19 Question Id : 68019114352 Question Type : MCQ Option Shuffling : Yes
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HIHT &1 YT qUiehl 1 1 24 1 TG T1eb TV I -1 HeaH GHIfAd
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If g = — ; where r< x < i:. then S{}(ranzx — cos x) 18 equal to

Options :

68019156067. 109
68019156068. 108
68019156069. 19

68019156070. 18

Question Number : 20 Question Id : 68019114353 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 4 Wrong Marks : 1
afg sifx = _% % el ney< i;-. %’ ar 80(tan’x — cos x) TRTEY %

Options :

68019156067. 109
68019156068. 108
68019156069. 19

68019156070. 18
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sin B+3cos” 0

If the range of £ (8)= . B € Z.1s [0, B]. then the sum of the infinite

sin? 0 +cos” 0

G.P.. whose first term 1s 64 and the common ratio 1s l[-; 15 equal to
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afe £ (e)= 5""49”“‘?}: Y 6 € R®TURIR [0, B] B, AT SMARfArd uier guft &

sin" 0 +cos™ 0

tr“m.maﬂuum?;m%’amﬂtm'ﬁ%w%
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2 -l . ; e :
Let 4 {I : w If the sum of the diagonal elements of 413 is 37, then n is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 22 Question Id : 68019114355 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

oFT 4 F ﬂ%w@%ﬁﬁ%mﬁmﬁmn%aﬂw%

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 23 Question Id : 68019114356 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of 3-digit numbers, formed using the digits 2, 3. 4. 5 and 7. when the
repetition of digits 1s not allowed, and which are not divisible by 3. 1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 23 Question Id : 68019114356 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3l 2. 3. 4. 5 TUT 7 & IUUN GRI 3-3H1T TATH D . 0 ft i sip
B SIETT el a1 & auT ol 3 9 fguisa Igt eidl 6. §

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



Question Number : 24 Question Id : 68019114357 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
v %

Leta = Z['h ik |) C and B= (Z G

o+ 1

2
i | JIf |4U«:€«i?ﬂ|.ﬂleﬂ

n+1

J
the value of 1 15

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 24 Question Id : 68019114357 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

" p e 3
HHAT o = Z_(ﬂrr: +2r + I) (, a4t g —(z ¢ J+ | 81313 140< 2[;1 <281,
' |

o+ n+1

d BT AA G

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 25 Question Id : 68019114358 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let the positive integers be written in the form :

[ ]
Lid

If the K row contains exactly & numbers for every natural number £, then the row
in which the number 5310 will be. is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 25 Question Id : 68019114358 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



HHT Y=TED QUi D1 59 4 H g 71 3 -

k2
Lad

e IURIGd =4 DI k-l Uldd T Wishidd T=AT k & AU Bih & T-AT Tl
. 1 98 dfda. forgs 9@ 5310 81 §

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 26 Question Id : 68019114359 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i [ o f ", \
. | l—cosxvcos2xvcosdx......Ncosl0x |
The value of lim2 Snitatidad i s bt

0 | X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 26 Question Id : 68019114359 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

i f i f " )
) [ | —cosxveos2xycosdy......Neoslx |
lim2 - . . - D[ HH —ET
y—all

X |
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 27 Question Id : 68019114360 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let the area of the region enclosed by the curve y = min{sin x. cos x} and the x-

. L
axis between x = —m to x = 7 be 4. Then 4° 15 equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 27 Question Id : 68019114360 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A f x=—aHx= n-?ﬁmﬂaﬁ;- = min{sin x. cos x} qUT x-318f I eR & 1
ST 4 8. T A2 TSR 8

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 28 Question Id : 68019114361 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Letd=9i — |3}+25£~ h=3i +?j— 13k and ¢ =171 _2,}" + K be three

given vectors. If ¥ is a vector such that Fxd=( b ¢)xa and

. 2

5937 +67dl" .
2 is equal to

[593)_

F . (b - L:) = ()- then

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 28 Question Id : 68019114361 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

T a=9—13]+25k,b =3 +7j - 13k qur ¢ =17i 2] +k &
R B 7 P WRATHIPRE P 7 = (b +¢)xa Ul

cor 1 k)2
{}%.fﬁ'n)af +ﬁ3ﬂ| RS
(593)

F-(b—¢)=

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 29 Question Id : 68019114362 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the orthocentre of the triangle formed by the lines 2x +3y - 1=0.x+2y—-1=0
and ax + by —1 = 0. 1s the centroid of another triangle. whose circumcentre and
orthocentre respectively are (3, 4) and (—6. —8). then the value of |a — 5| 15

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 29 Question Id : 68019114362 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gi TGI8 2x 43y —1=0,x+ 2y — 1 =0 TUT ax + by —1 = 0 GRI § AU DT e
&% fodl R BIe &1 S5 §. orad Ul quT dd & BT (3. 4) auT
(~6.-8)%. Al la—b| PTHAAR

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

1

Question Number : 30 Question Id : 68019114363 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Three balls are drawn at random from a bag containing 5 blue and 4 yellow balls.
Let the random variables X and ¥ respectively denote the number of blue and
yellow balls. If ¥ and ¥ are the means of X and Y respectively. then 7% + 4V 1s

equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 30 Question Id : 68019114363 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fopsft 0t 9, e 5 it qut 4 dill 712 €. are =1 diF T Hdrdl T 6 | /1
grefay® TR X aYl ¥ HH: i qur dieh 7iei & T= &1 Sxial ¢ i 7 aul
- PO XU Y BT §, Al 77 47 SR ¢

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Physics Section A

SectionId: 680191259
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 680191349
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 31 Question Id : 68019114364 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In an expression a * 10°;
Options :

68019156081, @ is order of magnitude for <5

68019156082, b 1s order of magnitude for 5< 4 <10

68019156083, b 1s order of magnitude for g < 5



68019156084, b 1s order of magnitude for g = 5

Question Number : 31 Question Id : 68019114364 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
qﬁwa‘jﬁﬁa «10° H .
Options :

68019156081, b < 5P T URHTI & HIC 2 B

68019156082, 5 < a < 10 % [eT0 GIHTU B Hife 5 T

68019156083, @ < 5 @ [ATT URHTU &1 BIfE b 5|

68019156084, a = 5 @ (U URAT &I HIfC b B

Question Number : 32 Question Id : 68019114365 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A clock has 75 em. 60 em long second hand and minute hand respectively. In 30
minutes duration the tip of second hand will travel x distance more than the tip of
minute hand. The value of x in meter ig nearly (Take m=3.14) :

Options :
68019156085. 118.9

68019156086. 139.4

68019156087. 140.5



68019156088. 220.0

Question Number : 32 Question Id : 68019114365 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wﬁﬁ@wamﬁﬁaﬁﬂgﬁm 75 cm., 60 cmf’lﬁﬁél H_S'Pfﬁ 30
e & 3aRTet & Yebs arail Gg DI A1, [Be g I A1 1 Y& x T3
4P Iadl & | T8l x BT A HIeX B aHT & @ n = 3.14) ;

Options:

68019156085. 118.9

68019156086. 139.4

68019156087. 140.5

68019156088. 220.0

Question Number : 33 Question Id : 68019114366 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A stationary particle breaks mto two parts of masses m 4 and mp which move with

velocities v, and vg respectively. The ratio of their kinetic energies (Kg: K ) 1s :
Options :

68019156089. VB * V4

68019156090. "5 - 4



68019156091. "B VB - M4 V4

68019156092. 1 : 1

Question Number : 33 Question Id : 68019114366 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U QR HUI &1 YT H €€ OIdl &[S GoqH m, Ud mg & aUI g

DU v, AU vy BTG Feld § | D] Tl Sl DT U (Kz: K, 8 :

Options:

68019156089. ¥B * V4

68019156090. "5 - 4

68019156091. "B VB * M4 V4

68019156092. 1 : 1

Question Number : 34 Question Id : 68019114367 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A player caught a cricket ball of mass 150 g moving at a speed of 20 m/s. If the
catching process is completed in 0.1 s, the magnitude of force exerted by the ball
on the hand of the player 1s:

Options :

68019156093. 150 N

68019156094. 3 N



68019156095. 30 N

68019156096. 300 N

Question Number : 34 Question Id : 68019114367 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

20 11/ T 1 I 9 IHHE 150 UTH GIHH @1 U 1 & Uh [Hars! 9hedl
o1 af¢ 9B+ § 0.1 b g &1 999 @ dd RAdra! & g1 R 7ie gRI T T
CREDR e

Options :

68019156093. 150 N

68019156094. 3 N

68019156095. 30 N

68019156096. 300 N

Question Number : 35 Question Id : 68019114368 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Three bodies A. B and C have equal kinetic energies and their masses are 400 g,
1.2 kg and 1.6 kg respectively. The ratio of thewr linear momenta 1s :

Options:

68019156097. 1 :/3:2



68019156098, 1:4/3:3/2

68019156099, +/3:v2:1

]
<
[~y

68019156100. ¥

Question Number : 35 Question Id : 68019114368 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[l

400 7. 1.2 75 T 1.6 50 Sommm & AR 14 fvst &1 1iaw Swid 9
1 30 ST TaT 1 3T T -

Options :

68019156097 1 :4/3:2

68019156098, 1:4/3:4/2

68019156099, v3:v2:1

]

fyefa.
68019156100, v=< iV

Question Number : 36 Question Id : 68019114369 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Correct Bernoulli's equation i (symbols have their usual meaning) :

Options:

1 .
P +mgh + — mv~ = constant

68019156101. -



1 1 o
P +—pgh + — pv° = constant
68019156102. 2 2

] ,
P+ pgh + — pv™ = constant
68019156103. 2

68019156104, P +pgh + pv> = constant

Question Number : 36 Question Id : 68019114369 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

el SRA1d! THe0 & (Sdd M 31 & ogdd fad 10 8) -

Options :

P +mgh + ! mve = Bodis
68019156101. 2

P4 inf:h ot pv? = Prgaie
68019156102. 2 2

l P .
P h+ — - = Foars
68019156103, o a7

2 ¥
68019156104, P +pgh + pv* = Fadi®

Question Number : 37 Question Id : 68019114370 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Two different adiabatic paths for the same gas mntersect two 1sothermal curves as
v .
shown in P-V diagram. The relation between the ratio % and the ratio 7 1s:
d &

Options :

68019156105, Va Ve

68019156106. Fa Ve

68019156107, 'd  \ Ve

68019156108, 'a  \ Vo)

Question Number : 37 Question Id : 68019114370 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



ETRId P-V 3R H U 719 P &l Bl agp, &l FHATY! ashl bl Hidefad Hd

V 7 e
§1q9 - qul AT
i ¢

Options :

68019156105, Va Ve

68019156106. Fa Ve

p P T
Vs ( V,, |
r

68019156108, '@\ V-

Question Number : 38 Question Id : 68019114371 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Two planets A and B having masses m; and m, move around the sun in circular

orbits of ry and r, radu respectively. If angular momentum of A 1s L and that of B
. e AR
is 3L, the ratio of time period | -4 | 1s:
! B )
Options:

68019156109.



1
1| m, |

-
S |

. m,

o 1
[ m

'!? ]

68019156110, ™/

£
h

68019156111, .2

T
68019156112.kﬁJ

Question Number : 38 Question Id : 68019114371 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
m; d 1112W$@R@$W1 SHI 1y dr, EEIEIE] ddIPY G|
T B & | S A DT HIVIY AT L GYUT B BT HIUIY HaTl 3L 5. 99 3D

- 'I{ T \".
SMTAAIA BT AT | 14 | 2:
\Is J

Options :

o

1 [ m, |

=
Faf |

68019156109. ~

|, )

[ m

7 ]

68019156110, ™

£y
| i
I

68019156111. %"/

68019156112.



Question Number : 39 Question Id : 68019114372 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A mixture of one mole of monoatomic gas and one mole of a diatomic gas (rigid)
are kept at room temperature (27°C). The ratio of specific heat of gases at constant
volume respectively is:

Options :

o 3

68019156113.

h | e

68019156114.

|~

68019156115.

L | Ln

68019156116.

Question Number : 39 Question Id : 68019114372 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U T Uh-A] 1™ qUT Ud Hid fg-URHT] 719 &1 fH30 3R & ™
27°C) R e mar 81 R S W BH: 30! [y s &1 sua §

Options :



[

68019156113.

h |

68019156114.

| =l

68019156115.

L | Ln

68019156116.

Question Number : 40 Question Id : 68019114373 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In the given circuit, the terminal potential difference of the cell 1s :

"
: 4Q 40
|

Options :

68019156117. 2V

68019156118. 3 V

68019156119. 4 V

68019156120. 1.5 V



Question Number : 40 Question Id : 68019114373 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe &g ufvgy & ¥9 @1 eftfqa fquarae §
=¥ : 4Q 40
10 :

Options:

68019156117. 2V

68019156118. 3 V

68019156119. 4 V

68019156120. 1.5V

Question Number : 41 Question Id : 68019114374 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Paramagnetic substances:

A. align themselves along the directions of external magnetic field.

B. attract strongly towards external magnetic field.

C. has susceptibility little more than zero.

D. move from a region of strong magnetic field to weak magnetic field.

Choose the most appropriate answer from the options given below:

Options :

68019156121, A B. C Only



68019156122, A. C Only

68019156123, B- D Only

68019156124. A.B.C.D

Question Number : 41 Question Id : 68019114374 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
gD g gary :

A. 30 &1 §Te] TG &7 B! (4= 1 e Yd 3ad g

B. €Tel ST &4 $1 R d6l ¥ Ao Hd §d €|

C. 39D dabiY Hald, T Y S &l el Bldl 5

D. fordil Rrfda=iTel! a1 87§ HHGR B &7 B SR 1d Hd 6 |

1 140 T fasbedl © 9 9ad Sid SR 9T -

Options :

68019156121, POT A, B. C

68019156122, PAT A, C

68019156123, PAd B. D

68019156124, PAT A, B.C.D

Question Number : 42 Question Id : 68019114375 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Average force exerted on a non-reflecting surface at normal incidence is

2.4 % 107N, If 360 W/em? is the light energy flux during span of 1 hour 30
minutes. Then the area of the surface 1s:

Options :

68019156125, 0.2 m~
68019156126. 0.1 m>
68019156127. 0.02 m*

68019156128. 20 m~

Question Number : 42 Question Id : 68019114375 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U URIGIId Ydg P araad Ad ST §d 2.4 x 107N g1 9fe TP ge1 30
fBFTe &1 3af¥ T 360 W/em? BT WebI2 Soll Foidd 5. a9 Jdg o] 895 o :

Options :

68019156125, 0.2 m>

68019156126. 0.1 m*

68019156127. 0.02 m*

68019156128. 20 m~



Question Number : 43 Question Id : 68019114376 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Critical angle of incidence for a pair of optical media 1s 45°. The refractive indices
of first and second media are i the ratio:

Options :

68019156129. 2: 1

68019156130.I:J5

68019156131, v2:1

68019156132.1: 2

Question Number : 43 Question Id : 68019114376 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ue UpTRITE HTewi & G &1 31Ud wifdd Iy 45° 31 76 WuH 4 fgdig
199 & SYad-id! &1 I ¢ -

Options :

68019156129, 2: 1

68019156130. 1: V2

68019156131, V2 : 1

68019156132. 1 : 2



Question Number : 44 Question Id : 68019114377 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A proton and an electron are associated with same de-Broglie wavelength. The
ratio of their kinetic energies 1s:

(Assume h=6.63 » 103475, m, = 9.0 > i kg and m, = 1836 times m_)

p
Options :

68019156133. 1: 1836

68019156134, 11836

I

l:
68019156135. 1836

I
i —
68019156136,  VI&36

Question Number : 44 Question Id : 68019114377 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U HiclH aul Ud gaaeld 3 Jag Sl-grel qileed IaF & | 98 3Ad! i
St 31l BT S9Td BI:

( aﬂ %: h=6.63 x 1034 I s, m, = 9.0 x 1031 ke dHl my, = 1836 m, )

Options :

68019156133, 1: 1836

68019156134, 1: V1836

68019156135.



836

1

68019156136, /1836

Question Number : 45 Question Id : 68019114378 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two charged conducting spheres of radii @ and b are connected to each other by a
conducting wire. The ratio of charges of the two spheres respectively 1s:

Options :

¥

68019156137. ¢

h
68019156138. «¢

68019156139. ab

e

68019156140, vab

Question Number : 45 Question Id : 68019114378 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a U1 b 1501 & &l STARId garde i, 199§ U 91ae dR 9 oS T § |
31 P AT BT UM 3 ;

Options:

a

68019156137. &



h
68019156138. «

68019156139. ab

68019156140, vab

Question Number : 46 Question Id : 68019114379 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Binding energy of a certain nucleus is 18 * 103 J. How much is the difference
between total mass of all the nucleons and nuclear mass of the given nucleus:

Options :

68019156141, < g
68019156142, 20 ng
68019156143, 10 ng

68019156144, U-2 ug

Question Number : 46 Question Id : 68019114379 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U NS B g=[ Sl 18 « 108 151 98 A1 & gl gfdaarl &1 oo
SOOI U 3 AN & goud- H fad =ik § -

Options :




68019156141, = 1g

68019156142, 20 g

68019156143, 10 ng

68019156144, U-2 ug

Question Number : 47 Question Id : 68019114380 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The output Y of following circuit for given inputs 1s :

A
Be

é

D_. v

T

Options :

68019156145. 0

68019156146, A-B
68019156147. A-B

68019156148. "

Question Number : 47 Question Id : 68019114380 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fed 2 fa e o for FrafaRad ooy @1 fFeid g -

L) O
reml o

Options :

68019156145. 0

68019156146, A-B

68019156147, A-B

68019156148, A B(A+B)

Question Number : 48 Question Id : 68019114381 Question Type : MCQ Option Shuffling
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

m cvne

Young's modulus 1s determined by the equation given by Y= 49000 where M

cm
18 the mass and [ is the extension of wire used in the experiment. Now error in
Young modules(Y) 1s estimated by taking data from M-/ plot in graph paper. The
smallest scale divisions are 5 g and 0.02 em along load axis and extension axis
respectively. If the value of M and [ are 500 g and 2 cm respectively then
percentage error of Yis :

Options :

68019156149. 0.02 %

68019156150. 0.2 %

:Yes



68019156151. 2 %

68019156152. 0.5 %

Question Number : 48 Question Id : 68019114381 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
T YT 1O 1 FHIBROT v- 490002 2% & 3 fapan man 81 Tt

| enm’
SO aYT | IR $1 fE919 §1 U U1 JUR TR Ml U1 3 V&1 aape 411
IR 0TS H FfC F1d 1 STt © | RE=ama-31ef quT YR 31&f 0 HHS: 0.02 em
qYUT 5 ¢ YEATH HY & YT 81 i MU & T1H HH: 500 ¢ UG 2 cm 81 49
V&R GRIGE

Options :

68019156149. 0.02 %

68019156150. 0.2 %

68019156151. 2 %

68019156152. 0.5 %

Question Number : 49 Question Id : 68019114382 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The diameter of a sphere is measured using a vernier caliper whose 9 divisions of
main scale are equal to 10 divisions of vernier scale. The shortest division on the
main scale 1s equal to lmm. The main scale reading 1s 2 cm and second division of
vernier scale coincides with a division on main scale. If mass of the sphere i3 8.635
g. the density of the sphere 1s:

Options :



! 3
68019156153. =-0 g/em

-
¥

.
68019156154, 1.7 glem

! 3
68019156155, 2.5 glcm

! 3
68019156156, =-2 g/cm

Question Number : 49 Question Id : 68019114382 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

af-TR UET & UGN U Tidl &1 oy 191 offdll o | F81 587 U & 9
YT, FHER UM & 10 YRT & SRT6L 8 | T YA &1 969 31T YT Imm B
0% U &1 gradics 2 it 31 T8 U0 & fodd! s & 91y af-ar U &1
R W1 AT B 1 31 71Tl T o0 8.635 ¢ & a1 71l BT U © -

Options :

! 3
68019156153. 2.0 g/cm

S T
68019156154, 1.7 glem

/ 3
68019156155, 2. glcm

! 3
68019156156, =-2 g/cm

Question Number : 50 Question Id : 68019114383 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A LCR circuit 1s at resonance for a capacitor C. inductance L and resistance R.
Now the value of resistance 1s halved keeping all other parameters same. The
current amplitude at resonance will be now:

Options :

68019156157, same
68019156158. double
68019156159. halved

68019156160. Zero

Question Number : 50 Question Id : 68019114383 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U LCR URYY 41Ral ¢, IR L U1 HicRiY R & fou eg1ied g | afg 9l o
R TGP Bact UIcRIY DI YTHR ¢ Tl 3d 3G UR YRT BT 3 ST

Options:

68019156157, ITHIH

68019156158. f;fﬂ

68019156159, SATHT

68019156160, k4

Physics Section B



SectionId: 680191260

Section Number : 4

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 680191350
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 51 Question Id : 68019114384 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Three vectors gp. 0Q and or cach of magnitude A are acting as shown in figure.

The resultant of the three vectors is A \/; . The value of x 13

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Question Number : 51 Question Id : 68019114384 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

AT AR op. 00 AR op . TGP BTURALI A & O 7 & TER BERd €|
it A= 1 uRuH A [y B1x BTHAA gl

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 52 Question Id : 68019114385 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



A uniform thin metal plate of mass 10 kg with dimensions 1s shown. The ratio of x

. ;i 5 i
and v coordinates of center of mass of plate in 9 .The value of 1 1s

(0.2) (1.2) (3.2)

R ‘i i i 7 ] i, s S i o s ] i i . - e

(0.0) (3.0)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 52 Question Id : 68019114385 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



10 U1 oo™ o1 U THEHH Yadl 4T $i wie [G@r Tl g1 e &
SO &% & x aul yﬁﬁrﬁﬁ&l@wg%aﬁn@ﬂﬂ gl

/ 32
(0.2) (1.2) &) (3.2)

o o i  — ——— i — i — ]
o e . .

b e e

(0.0) (3.0)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 53 Question Id : 68019114386 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A liquid column of height 0.04 cm balances excess pressure of a soap bubble of
certain radius. If density of liquid is 8 = 10° kg m™ and surface tension of soap
solution is 0.28 Nm™.. then diameter of the soap bubble is cm.
(ifg=10m 5'_2}

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Question Number : 53 Question Id : 68019114386 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

[t 5d & T DI 15 0.04 cm (6! G & FaAgd D &1d 31TEET B
ferd Bl 81 afe %a BT U 8 x 10° kg m™ & qUT A1 BT Y 14 0.28 N
m! _3 dd gmgﬁ GARIES! cm%l

( &y % g=10m 3_2}

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 54 Question Id : 68019114387 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A closed and an open organ pipe have same lengths. If the ratio of frequencies of

. . (a-1) :
their seventh overtones is | —— | then the value of a is
\ a /}

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 54 Question Id : 68019114387 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U §-5 U1 U ol 31714 UIgy i avals 99 & | 31 |iad quigicd

(overtones) 7| m DT SJUId ”:_] \| %’t_‘l*_ﬁf a @] HIH %’I

|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 55 Question Id : 68019114388 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

; = 2i+6)+8k ,
An electric field, £ =""""" pagses through the surface of 4 m? area having
A6 N -
(2f 47 +k
. . { ( . . .
unit vector 7= —%} . The electric flux for that surface 1s V m.
' B

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 55 Question Id : 68019114388 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

T Yeed AT = 268 Rt 4 o2 Brher b Wy R ST TR

A6
2f +7 +k
J6

Response Type : Numeric

2. 9 ToRdl 81 39 ¥ & AU daed ey VmEl

=

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 56 Question Id : 68019114389 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Resistance of a wire at 0 °C. 100 °C and t °C 1s found to be 10 ©. 10.2 Q and
10.95 Q respectively. The temperature t in Kelvin scale 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 56 Question Id : 68019114389 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TP TR P70 °C. 100 °C TUT t °C AT TR WfRIY HH: 10 2, 102 Q TUT10.95 ©
o | a9 Pfed 99F TR a9 t BT HA =

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 57 Question Id : 68019114390 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An electron with kinetic energy 5 eV enters a region of uniform magnetic field of 3
uT perpendicular to its direction. An electric field E is applied perpendicular to the
direction of velocity and magnetic field. The value of E, so that electron moves

along the same path, is _ NC7L,

(Given. mass of electron = 9x107>! kg, electric charge = 1.6 x 1071°C)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 57 Question Id : 68019114390 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

3 uT b USHH FHEPIY &5 & THEd 5 ¢V Il B U gadg( Has PRl ¢l
I{Eﬁﬁ?@,ﬂ%ﬁEWWﬁﬁﬂTWﬂ%ﬁ &Il & A T Sl 8 dgyd
&7 E oo Toae T I e gy o IR @ 9, T 9 a9 E=

NC! 7l
(a1 8- Soiac &1 GoHM = 9x107! ke, STUACM MTA¥= 1.6 x 1071°C)

Response Type : Numeric




Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 58 Question Id : 68019114391 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In an alpha particle scattering experiment distance of closest approach for the a
particle is 4.5 » 10~ *m. If target nucleus has atomic number 80, then maximum

velocity of o- particle 15 < 10° m/s approximately.

e ' ' : 57
(4, — =9x10" ST umt. mass of a particle=6.72 = 10 2 kg)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 58 Question Id : 68019114391 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TS o- BV P TP IUH TGRT H, o- B D] I8 Hdedd o2l 4.5 « 107 m 31 TG

&g i DI TRATY AT 80 B1 Al o- DU DT THIHT SA{HBdH 7 x
1'35111-.":1%|

1 -
(fears- F=9x10“’ SI HIAD, a- P Bl THHA = 6.72 x 107/ kg)

EH]

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 59 Question Id : 68019114392 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A parallel beam of monochromatic light of wavelength 600 nm passes through
single slit of 0.4 mm width. Angular divergence corresponding to second order

" _3
minima would be x 107 rad.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 59 Question Id : 68019114392 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@mma&mm-@@m%gﬁﬁﬂﬂ nm %GﬁQTﬁD.'—I mim
qreTg 1 3R] T IoRdl g1 59! fgdig 4vfl & FiHE &1 Hivig baa
< 1073 ST BRI

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Question Number : 60 Question Id : 68019114393 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A square loop PQRS having 10 turns. area 3.6x10™ m” and resistance 100 € is
slowly and uniformly being pulled out of a uniform magnetic ficld of magnitude
B=0.5 T as shown. Work done in pulling the loop out of the field in 1.0 5 18

% 1070 T.
x X x »
P Q
» oo » b4

%K X x X

¥V

b4 x 4 b 4
5 R
X X X X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 60 Question Id : 68019114393 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



10 U, I &% 3.6x10 m? , UARIY 100 Q & U GHBR o9 PQRS, Bl

B=0.5 T & UHHHM IWH Y &7 ¥ UR-R 1er Wiar orar g o fo o d

%{mﬁﬂm%lgﬁmsﬁﬁaﬁaﬁ?@?ﬁﬁmwm «10797
!

v X
X
b

o
X

%K X x b

¥V

.4 4 X b4
5 R
X X b b4

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Chemistry Section A
Section Id : 680191261
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time: 0

Sub-Section Number : 1



Sub-Section Id : 680191351
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 61 Question Id : 68019114394 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Combustion of glucose (C4H;,04) produces CO, and water. The amount of

oxygen (in g) required for the complete combustion of 900 g of glucose 1s :

[Molar mass of glucose in g mol™! = 180]
Options :

68019156171. 32
68019156172. 800
68019156173. 960

68019156174, 480

Question Number : 61 Question Id : 68019114394 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BN (CgH,,04) F T8 ¥ €O, T4 o ITSd BIdl 8] 900 g TIH N 3 gui

ag & fo1U o sifaiio & 5 (¢ ) ©:
JE[@-IE Dl HiTR Soud ¢ mol~! = 180]
Options :

68019156171. 32



68019156172. 800

68019156173. 960

68019156174. 480

Question Number : 62 Question Id : 68019114395 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
{Molecule) (Shape)
A |NH; I. |Square pyramid
B. |BrFs II. |Tetrahedral
C. |PCl5 [11. | Trigonal pyramidal
D. |CHy IV. | Trngonal bipyramidal

Choose the correct answer from the options given below:
Options :

68019156175, A-IL. B-IV. C-I. D-III

68019156176. A-IIL. B-IV. C-I. D-II

68019156177, A-III. B-I. C-IV. D-II

68019156178, A-IV. B-1II. C-I. D-II

Question Number : 62 Question Id : 68019114395 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

g 191 [HaH gt I 8

T 1 = 11

(D (HT=
A. [NH; I GURBTEE|
B. |BiF; 1L |adhddig
C. |PCls 1L |Fsiviig fRFEST
D. [CH, 1v. [Freiofig fefofist
13 fau e fde el T 9 981 SR I:
Options :

68019156175, A-IL. B-IV., C-I. D-III

68019156176, A-IIIL. B-IV. C-I. D-II

68019156177, A-IIL B-I. C-IV. D-II

68019156178, A-IV. B-1II. C-I. D-II

Question Number : 63 Question Id : 68019114396 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the given hypothetical reactions. the equilibrium constants are as follows :

e K =10
Y% E;=20
Z=W; Ky =4.0

The equilibrium constant for the reaction X &= W 1s
Options :

68019156179. 7.0

68019156180. 8.0



68019156181. 12.0

68019156182. 6.0

Question Number : 63 Question Id : 68019114396 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

fau U FregE fiferarsii & o, g RRie Hafafad e
X=Y; K =10

Y7 K, =20

Z=2W; Ky =40

HffPaT x = w & o0 g RR® &

Options :

68019156179. 7.0

68019156180. 8.0

68019156181. 12.0

68019156182. 6.0

Question Number : 64 Question Id : 68019114397 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Thiosulphate reacts differently with 1odine and bromine in the reactions given
below:

28,03 +1, »$,0%™ +2I”
S,03” +5Br, + 5H,0 — 2805 +4Br™ +10H"

Which of the following statement justifies the above dual behaviour of
thiosulphate?

Options :

68019156183, Bromine is a stronger oxidant than iodine

68019156184. Bromine is a weaker oxidant than iodine

Thiosulphate undergoes oxidation by bromine and reduction by iodine in these
68019156185. reactions

68019156186, Bromine undergoes oxidation and 1odine undergoes reduction in these reactions

Question Number : 64 Question Id : 68019114397 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I < g sifirferared § maisia vd S & 91y 9 ehe g UeR 9
&rf\lr[ﬁTaTmﬂT%

28,037 +1, = S,07” +21”

S,03” +5Br, +5H,0 — 2803 +4Br~ +10H~

A0 & O S 91 Y U he & SURIad gal deR T gHYT Hal g2

Options:

63019156183, ATAISH B g1 & s vaa SladieR® 8

68019156184, TSI @ G H S g @ SHFHHRD §



g SHftfcharsit § et e & siHA gRT STHBI0 UG TS gR
68019156185, STHT- GBI §

68019156186. ﬁ#lﬁm&ﬁﬁﬁiﬂﬂaﬂmmmmﬁqaﬂw@m%

Question Number : 65 Question Id : 68019114398 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Among the following halogens

F,. Cl,. Br; and I,

Which can undergo disproportionation reactions?

Options :

68019156187, Only I

68019156188, F2 and Cl

68019156189, Clp . Bryand I,

68019156190, F2- €l and Br,

Question Number : 65 Question Id : 68019114398 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ el H 9 1 SEEyTd SHHfhard o ¥odl o

FE‘ Clz Bl’j U,a- Iz

Options :



68019156187. $Had 1,

68019156188, F2 €9 Cl,

68019156189, Cl» . Br, Ud I

68019156190, F2- €1, Ud Bry

Question Number : 66 Question Id : 68019114399 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements: One is labelled as Assertion A and the other is
labelled as Reason R:

Assertion A: The stability order of +1 oxidation state of Ga. Inand Tlis Ga<In <
Tl

Reason R: The inert pair effect stabilizes the lower oxidation state down the
group.

In the light of the above statements. choose the correct answer from the options
given below:

Options :

68019156191, Both A and R are true and R 1s the correct explanation of A.
68019156192, Both A and R are true but R is NOT the correct explanation of A.

68019156193. A 1 true but R 1s false.

68019156194, A 1s false but R 1s true.



Question Number : 66 Question Id : 68019114399 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 A HYT UM B | 370 T U Bl DY ATd G I PRUR & =Y o
WW%:
AfUTUT A: Ga. In TG T1 T +1 HTFHGR0T T & WD BT HH B: Ga<

In=Tl
®RUTR: G5 H =< & UR 3iichy g YuIg 9 e sfae]
&1 RIRIE UgH HRal g

Sujd Bl b e 3 i 2y 1 faedi 9 w6l SR I

Options :

68019156191, &1 ®YT AT R TGl ¢ dUTR. Y A P Uol AR ©

68019156192, Il PYUT ATd R Hel § R R. DY A D el oA T8 &

63019156103, A HEl €. TR-J R 7T0id ©

63019156194, ATTAd §. I R &1 §

Question Number : 67 Question Id : 68019114400 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: N(CH;); and P(CHjy); can act as ligands to form transition metal

complexes.
Statement IT: As N and P are from same group. the nature of bonding of N(CH;);

and P(CH;); 1s always same with transition metals.

In the light of the above statements. choose the most appropriate answer from the
options given below:

Options :



68019156195. Both Statement I and Statement II are correct.
68019156196. Both Statement I and Statement I are incorrect.
68019156197. Statement I 1s correct but Statement II 1s incorrect.

68019156198. Statement I 15 incorrect but Statement I 1s correct.

Question Number : 67 Question Id : 68019114400 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRAdPYERumE:

BYI: N(CHz)3 Td P(CHz); Tsh T UTq Hpal & 0101 & fore ferrs & =9 o
B B gHd o

HYTI: dfb N Td P I GHH THE & © 3d: YUl dedl & Ty N(CHz): Td
P(CH3); B TR B Ui Tad U 9 a8

SUga HUHl & g § i U 1L fasedl § 9 Haiiie Sugead S I
Options :

68019156195, &Il PYU- 1Ud DY 11 981 §

68019156196, Gl YU 1 Td YU I17107d ©

68019156197, PUT 1 TEI § TR-g PUH 11 TTeTT §

68019156108, U 1710 § TR HY 11 el §

Question Number : 68 Question Id : 68019114401 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Elements) (Properties in their respective groups)

A |CLS I. |Elements with highest electronegativity

B. |Ge, As II. |Elements with largest atomic size

c. |Fe Ra 1L Elements which show properties of both
metals and non-metal

D.|EO v :El-_:‘-ments “'1'[%1 highest negative electron
gain enthalpy

Choose the correct answer from the options given below:
Options :

68019156199, A-IIL. B-II. C-I. D-IV

68019156200, A-IL. B-I. C-IV, D-III

68019156201, A-II. B-III. C-IV. D-I

68019156202, A-IV. B-1II. C-II. D-I

Question Number : 68 Question Id : 68019114401 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt 151 [HaH gt I 8 B

A1 i
@) (ETTd THEl # 37 )
A lcLs 1 |3=add faggd FureE drd a@
B. |Ge, As 1. |3ffedas WRHmY] B ard ad
C. |Fr.Ra I1L. |#1q Ud 37eTq cfedl o U alcl ded
. |Taiiee Fomerd Toiaeq afed T
D.[EO |y
- fau U fderedl § 9 el SR 9:
Options :

68019156199, A-III. B-II. C-1. D-IV

68019156200, A-IL. B-I. C-IV, D-III

68019156201, A-II. B-III. C-IV, D-I

68019156202, A-IV. B-1II. C-II. D-I

Question Number : 69 Question Id : 68019114402 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Iron (IIT) catalyses the reaction between 1odide and persulphate 1ons. in which

A. Fe’” oxidises the iodide ion
B. Fe’ ™ oxidises the persulphate ion
C. Fe?™ reduces the iodide ion
D. Fe?™ reduces the persulphate ion

Choose the most appropriate answer from the options given below:

Options:

68019156203, A only



68019156204, B only
68019156205, A and D only

68019156206, B and C only

Question Number : 69 Question Id : 68019114402 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STRA (111) HTTSTES UG WRewe ATTH & He8 AUl & SRd FRa1©
forgd.

A.F¥™ SIOISIES 31 &I JfIRilpd Hdl o
B. Fe¥™ TRUTHE A0 &1 Aafidpd Hrar gl

C.Fel™ 3MUISI58 T $l HIIld ddl o

D. Fe2™ RGP T & Td Sl g

-4 feu aTe faeedl ¥ § gallve Sugad S 9:

Options :

68019156203, Pad A

68019156204, Pdd B

68019156205, P90 ATUd D

68019156206, 0% B T4 C

Question Number : 70 Question Id : 68019114403 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

An octahedral complex with the formula CoCl; nNH; upon reaction with excess
of AgNO; solution gives 2 moles of AgCl. Consider the oxidation state of Co in
the complex is 'x'. The value of "x + n" 1s

Options :

68019156207. 3

68019156208. 6

L

68019156209.

68019156210. 8

Question Number : 70 Question Id : 68019114403 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CoCly.nNH; 92 dldl U FHADI AP I HHihAT AgNO; f[aea1 &

3T P Y BRI TR AgCl P 2 TN U1 B &) 38 TPl & Co Bl
IR 3R Bl x AATTAI G "x + 0" BT HH ©

Options :

68019156207. 3

68019156208. 6

in

68019156209.

68019156210. &

Question Number : 71 Question Id : 68019114404 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of Complexes with even number of electrons in t,, orbitals is -
[Fe(H,0)6]%". [Co(H,0)6]* . [Co(H,0)6F ™. [Cu(H,0)6]* ™. [Cr(H,0)6]*"

Options :

| ]

68019156211.

L

68019156212.
68019156213. 3

68019156214. 1

Question Number : 71 Question Id : 68019114404 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafefed & 43 dodl o GO f5Hd U 1, T | 91 §oI | gadei

B

[Fe(H,0)6]* ™. [Co(H,0)s)* ™. [Co(H,0)6] . [Cu(H,0)41* . [Cx(H,0)6]*™

Options:

| )

68019156211.

n

68019156212.

68019156213. 3

68019156214. 1



Question Number : 72 Question Id : 68019114405 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
[(Name of the test) (Reaction sequence involved)[M is metal]

Co[NO3 |,

A |Borax bead test| L MCO; — MO —=— Co0)- MO

4

g [Charcoal 11| MCO, — MCl, — M?*

cavity test

: Ma~ 13,0
c Cobalt nitrate L 315{.)4 ;3._1 T

test

>M(BO, ), - MBO, »>M

Na,COy

D |Flame test V.| M5O, MCOy = MO =M

Choose the correct answer from the options given below:
Options:

68019156215, A-IIIL. B-I. C-II. D-IV

68019156216, A-IIL B-II. C-IV. D-I

68019156217, A-IIL. B-I. C-IV. D-II

68019156218, A-IIL B-IV. C-I. D-II

Question Number : 72 Question Id : 68019114405 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt 151 [HaH gt I 8 B

I I

(URT&TOT T 9TH) (T S aTaT STt %9) (M YT §)

CIEEEE G Co[NO;'
Al rftermn L [ MCO; — MO 0(+ 302 » CoO-MO

i a5 PR

B. _%a ﬁmjﬂﬁqﬁ' s |T[MCO; > MCl > M

Fidee Na~3,0
C e g [ MSO, — 21— M(BO,), - MBO, »>M
D |samer aftemr v hISt}_l%niL'tJ:ﬁxit1ﬁh-1

A= feu e fow el o 9 gl 3w -
Options:

68019156215, A-IIIL. B-I. C-II. D-IV

68019156216, A-IIL B-II. C-IV. D-I

68019156217, A-IIL B-I. C-IV. D-II

68019156218, A-IIL B-IV. C-I. D-II

Question Number : 73 Question Id : 68019114406 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Compound) (Colour)
A |Fey[Fe{CN)gl;-xH-0[ 1. [Violet
B. [Pe{CK}:—,NDS]J'_ II. |Blood Red
C. |[Fe(SCN)I*™ I1I. |Prussian Blue
D. |(NH4)3PO4-12MoOg | IV, |Yellow

Choose the correct answer from the options given below:



Options :

68019156219, A-L. B-II. C-III. D-IV
68019156220, A-IIIL. B-I. C-II. D-IV
68019156221, A-IIL. B-III. C-IV, D-I

68019156222, A-IV. B-1. C-II. D-III

Question Number : 73 Question Id : 68019114406 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eI 1 51 e gt 1o 3 &

8l
Fey[Fe(CN)gl; xH;0| L &R
[Fe(CN)-NOS]*~ | IL |3ad Sran @
[Fe(SCN)2* I [R1E &
|:-:\—.['I4}3PD4'12:"¢1003 IV tﬂa-[
= feu e foe el o 9 9l 3w -

Options :

e

ofofw

68019156219, A-I. B-II. C-III. D-IV

68019156220, A-IIL. B-I. C-II. D-IV

68019156221, A-IL. B-III. C-IV. D-I

68019156222, A-IV. B-1. C-II. D-III



Question Number : 74 Question Id : 68019114407 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Cl
g
Statement I: X - TUPAC name of Compound A 1s
0,} NO,
Compound A

4-chloro-1.3-dinitrobenzene.

NH,
CH,
Statement IT: ' l [UPAC name of Compound B 1s

-

C,H;
Compound B

4-ethyl-2-methylaniline.

In the light of the above statements. choose the most appropriate answer from the
options given below:

Options :

68019156223. Both Statement I and Statement II are correct.

68019156224. Both Statement I and Statement II are incorrect.

68019156225. Statement I 1s correct but Statement II 1s mcorrect.

68019156226. Statement I 1s incorrect but Statement I1 1s correct.

Question Number : 74 Question Id : 68019114407 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



: Cl
2
PUTL: \J;Iw i A T IUPAC T §: 4-FARI-1.3-

Compound A
Ty [

Slglgcla-dl-.

NH,

CH,
2 ,
YT 11 ¢ TiffTe B &1 IUPAC T &: 4-Tid-2-Bideofei.
C.H

{_'nm]m:und B
SUdad HYHl oI5y 8 A U e fdeedl & 9 wallte 39ged S 94

Options :

68019156223, &Il PUF 1 Yd B 11 Fel &

68019156224, &Il YT 1 UG &Y 11 707 B
68019156225, PUT 1 TE! § TR-q U 171 §

68019156226, PUT 1 TTEKd © TR P 11 T8l §

Question Number : 75 Question Id : 68019114408 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the given compound. the number of 2° carbon atom/s 1s

CH,— C(CH,) — CH —

C
| |
H H H
Options :

68019156227. Four



68019156228, Three
68019156229. Two

68019156230. One

Question Number : 75 Question Id : 68019114408 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
[T T TiffTep  2° Hra- GRAT|(3{T) BT H-T1 876

CH,— C(CIH,) — CH — C(CH,) — CH,

H H H
Options:

68019156227 dIX

68019156228, Ui

-

68019156229, al

68019156230, &

Question Number : 76 Question Id : 68019114409 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are aromatic?

-
A.

N

TR
B.[ |

o

o' =
C. ]

. —

Options :

68019156231, Aand B only

68019156232, C and D only

68019156233, A and C only

68019156234, B and D only

Question Number : 76 Question Id : 68019114409 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Options :

68019156231, PO AT B

68019156232, P04 C Ud D

68019156233, PATA TG C

68019156234, P94 B U4 D

Question Number : 77 Question Id : 68019114410 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following compounds will undergo fastest Sy;2 reaction.

Options:

Br

68019156235.

68019156236.



B

Br

68019156237.

68019156238.

Question Number : 77 Question Id : 68019114410 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafafad o 9 oF 91 gifite digad s,2 sififear sam

Options:
-
Br
68019156235.
[ )T”I
68019156236, L——
A
Br
68019156237.

68019156238.



Question Number : 78 Question Id : 68019114411 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Identify the major products A and B respectively in the following set of reactions.

CH,
CH, COCI OH Conc.H,SO,
3= T - > A
Pyridine A

Options :

CH, cH,
A= g ‘ and B= EI('}”
68019156239. COCH,
CH, CH,
A= Q/ and B = Q<c'mncm
68019156240.

CH

Wil y
A= @/ and B= OH
68019156241. CH,CO
CH, {'H;
A= O/ ~and B= O<L-UCH3
68019156242.

Question Number : 78 Question Id : 68019114411 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hfferan & FafaRad dei § 9 HH%: 487 3d1G A U4 B &:
CH

3

CH, COCI on ConcH,SO, _

B < > A
RS A

Options :

CH, CH,
A= g 4 B= CE(';H
68019156239, COCH,
CHy CH,
A’=[:i::rf 'qalﬂ=-[::::r:GCfmﬂh
68019156240.

CH,

an, :
e O
68019156241. CH,CO
CH, CH,
A= O/ " UdB= O<('{JL‘H3

68019156242.

Question Number : 79 Question Id : 68019114412 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the product (P) in the following reaction:

COOH
11Brs /Red P \
iijij7f! D H,0 M)
2

Options:

Q<{Z{_)Ull
68019156243 B




Q/ COBr
68019156244.

COOH

68019156245. Br
fL‘I O
': ;" Br
68019156246.

Question Number : 79 Question Id : 68019114412 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

frrafafad siftifear 5 I@re p &l ggam:;
COOH _
Q/ ]j Bry/Red P { [P}
11}[—130 "
Options :

COOH
O
68019156243.
Q/ COBr
68019156244.

COOH

68019156245. Br

68019156246.



g CHO
Br

Question Number : 80 Question Id : 68019114413 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CHO

H

HO

H

H

OH
—H

OH
OH

CH,OH

The incorrect statement regarding the given structure 1s
Options :

68019156247, has 4 asymmetric carbon atom

68019156248, can be oxidized to a dicarboxylic acid with Br; water

68019156249, despite the presence of -CHO does not give Schiff's test

68019156250, Will coexist in equilibrium with 2 other cyclic structure

Question Number : 80 Question Id : 68019114413 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



CHO

H——
o
H
H—

OH

——H
OH
OH

CH,0H

s G gy H ad s ©:

Options :

68019156247, S9H 4 SHT BT TRHTY §

68019156248, J6 Br, 90 GRI fg-wpraifayied et § slaiigd fohar i Fadl ©

68019156249, U8 ~CHO THE BIH & s1avie, [ wiamr 7l <ar e

68019156250, I8 &l 30 9 [ I=-131 & Ug 3Rda & Iy Traawy1 H |

Chemistry Section B

SectionId: 680191262
Section Number : 6

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1

Sub-Section Id : 680191352



Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 81 Question Id : 68019114414 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A hypothetical electromagnetic wave 1s show below.

4\1 r‘/\

The frequency of the wave 1s x * 10" Hz.
X= (nearest mteger)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 81 Question Id : 68019114414 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



0% FHI-d [dggd TaH il [aaTs 718 §)

Wﬁ&ﬂqﬁ-’[ p IDHHE%
x= (Meead quiie o)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 82 Question Id : 68019114415 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Number of molecules from the following which are exceptions to octet rule 1s

CO,., NO,. H,S80,. BF;. CH,. SiF,4, ClO,. PCl;, BeF,, C,Hg, CHCl;. CBry
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 82 Question Id : 68019114415 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

fFafafad d 9 34 s @ e off ov® Fad & sude § .
CO,. NO,. H,S0,. BF;. CH,. SiF,, ClO,. PCl;. BeF,. C;Hg. CHCl;. CBry
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 83 Question Id : 68019114416 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-_-_d\---B
90 L
____v____A
10'L
s

Consider the figure provided.

1 mol of an 1deal gas 1s kept i a cylinder. fitted with a piston. at the position A, at
18 C. If the piston 13 moved to position B, keeping the temperature unchanged.
then 'x' L atm work 1s done 1n this reversible process.

X= L atm. (nearest integer)

[Given : Absolute temperature = °C + 273.15. R = 0.08206 L atm mol™ K™!]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 83 Question Id : 68019114416 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

----d\ ---B
90 L
L N __A
10'L
'8
U 710 a7 o fdaR &

0% e gad Rfeex 0 1 919 Sex TN TR 6. 9l 18° CIRYF AR S
afe gg fUwe fam argem ¥ aiadH it =IF B 9= Idl 9l & 1 39 fawiia
Wﬁﬁfmwm':{'ﬁfdatm%

X= L atm. (Fpcad W )

[F&am 741 §: 9RH A9 = °C +273.15, R = 0.08206 L atm mol™! K]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 84 Question Id : 68019114417 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A solution containing 10 g of an electrolyte AB, in 100 g of water boils at
100.52°C. The degree of 1onization of the electrolyte (o)

15 <1071, (nearest integer)

[Given : Molar mass of AB, =200 ¢ mol™!, Ky, (molal boiling point elevation
const. of water) = 0.52 K kg mol™L. boiling point of water = 100°C ; AB, 1omses
as AB, — A%" +2B7]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 84 Question Id : 68019114417 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
U fqaaH, [ H faggd 31Uued AB, & 10 ¢ ST & 100 ¢ H fd0d ©, 100.52°C

R 3eadr ¢ | fagqd srauey & fagieH &1 oi¥ (o) § < 10
1 AR —AY - 2B UBR Y AT BT

(731 7141 §: AB, T HITR Fo0HI = 200 g mol™!. Ky, (SId1 &1 HITR SHYAD
399 RRRP) = 0.52 K kg mol™L, 516 BT HYD = 100°C]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 85 Question Id : 68019114418 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the following reaction

A+B = C

The time taken for A to become 1/4™ of its initial concentration is twice the time
taken to become 1/2 of the same. Also. when the change of concentration of B is
plotted against time. the resulting graph gives a straight line with a negative slope
and a positive intercept on the concentration axis.

The overall order of the reaction is
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Correct Marks : 4 Wrong Marks : 1

The 'spin only' magnetic moment value of MO 42_ 13 BM. (Where M

1s a metal having least metallic radii. among Se, T1, V. Cr. Mn and Zn).

(Given atomic number: Se =21, T1=22, V=23, Cr=24, Mn =25 and Zn = 30)
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If 279 g of aniline 1s reacted with one equivalent of benzenediazonium chloride.
the maximum amount of aniline yellow formed will be g. (nearest
integer)

(consider complete conversion).
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 87 Question Id : 68019114420 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gie 279 ¢ UHCH D1 fopal 9= SISUHIHTH RIS & U i & 914
PRIz oY ot i U dal ot sftpag aenerft o (Foedn
it )

CURIECRRREIEY

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 88 Question Id : 68019114421 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The number of optical 1somers in following compound 1s:

CH,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 88 Question Id : 68019114421 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
{4 giffTe § yep1iIe SHIaual &1 H&1 6:

CH,
Br | '

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 89 Question Id : 68019114422 Question Type : SA Calculator : None
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Major product B of the following reaction has m-bond.

]-L."-lm}h; KOH
A

II_“«E«H_,I H,804

(A) > (B)
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Number of amine compounds from the following giving solids which are soluble
in NaOH upon reaction with Hinsberg's reagent 1s

i 0
N : ! Z S NH - CH
U | NH, H,NNH-C-NH, il 3
- # 2 "\_\ B
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N NH. NH, N“h
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